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Q1. Materials suitable for permanent magnet, must have which of the following
properties?
(a) High retentivity low coercivity and high permeability
(b) Low retentivity low coercivity and low permeability
(c) Low retentivity high coercivity and low permeability
(d) High retentivity high coercivity and high permeability

Q2. The correct curve between y and %for paramagnetic magnetic is
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Q 3. The core of an electromagnet is made of soft iron, because —
(a) the susceptibility of soft iron is very high
(b) coercivity of soft iron is very low
(c) both of these
(d) attracts some substances and repels others

Q4. A paramagnetic material has 1028 atoms/m3. Its magnetic susceptibility at
temperature 350K is 2.8 x 107%. Its susceptibility at 300K is:
(a) 2.672 x 10™* (b) 3.726 x 10™*
(c) 3.267 x 10™* (d) 4.172 x 10~*

Q5. Atatemperature of 30 °C, the susceptibility of a ferromagnetic material is found to be
X- its susceptibility at 333 °C is
@x (b) 0.5y
(c) 2y (d) 11.1y
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The hysteresis curve for a material is shown in the figure. Then for the material
retentivity, coercivity and saturation magnetization respectively will be:
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The hysteresis cycle for the material of a permanent magnet'is
(a) Short and wide (b) tall and narrow
(c) tall and wide (d) short and narrow

The given figure represents a material\which_is

(a){Paramagnetic
(b).Diamagnetic
(c) Ferromagnetic
(d) None of these

At curie temperature, in ferromagnetic materials
(a) the atomic dipoles get aligned

(b) the atomic dipoles lose alignment

(c) magnetism is zero

(d) none of these

The area enclosed by a hysteresis loop is a measure of
(a) retentivity (b) susceptibility
(c) permeability (d) energy loss per cycle
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Answer Key
Ql1d |Q2a |Q3 ¢ Q4 c |Q5 b
Q6 ¢ |Q7c |Q8 b |Q9 b |Q10 d
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Solution: 1
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Ans. d



Solution: 2




Solution: 3
Susceptibility of soft iron is very high & coercivit Iron Is very
low. So, soft iron Is suitable for making electromagnets. X
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Ans. C



Solution: 5

Ans. b
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Ans. C



Solution: 7
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Ans. C



Solution: 8
In the given figure, since magnetic field lin away from

the substance, it represent a diamagnetic substance. \ %

Ans. b



Solution: 9

As the temperature iIs increased, the random}
Individual atomic magnetic moments increases, decresi%

| for a given magnetic intensity H. And if a ferromagneti
at curie temperature it becomes paramagnet'g. %

Ans. b



Solution: 10

The area of the hysteresis loop Is proportion e thermal
energy developed per unit volume of the material as | g&% the

hysteresis cycle.

Ans. d
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